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= 30,000 30,000 0
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= 745,713 745,713 0
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< 413,554 413,554 0
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= 201,153 201,153 0
s 30,000 30,000 0
S 51,144 51,144 0
Al 848,316 619,791 228,525
S0lch aafat 250,525 22,000 228,525
401 AIEHI L 2 CHYI 228,525 0 228,525
01 A& HI 228,525 0 228,525
O==4HH1000E AaME2 2K HY 228,525 0 228,525
sZIIAXE 1,295,494 1,255,494 40,000
= 146,680 146,680 0
< 208,210 208,210 0
Al 940,604 900,604 40,000
SHIIH U2 419,864 379,864 40,000
405 KtabH S| 170,000 130,000 40,000
01 AR ESFH S 170,000 130,000 40,000
ogll sJIH =< 40,000 0 40,000
— &HOFXI I 24 D1 10,000, 0003 *3CH 30,000 0 30,000
—S&SHED 5,000,000 *2CH 10,000 0 10,000




